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Which of these numbers is between l and E on a number line?

3 100

1
E.r

87
—' 100
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Which statement is true?

JA==04

e

O B 20% =L
20

O C 0.3%=0.03
. D 8.6 =0.086%
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Directions: Click and drag each selected number to the correct box.

List the numbers in order from least to greatest.

Numbers

Least ———— > Greatest
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What is the valueof 72 — 4 + 57

o A 50
J B 40
)€ 15

. D 14

4 of 50
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What is the value of 6 +3-2 7

o A 36

B 18

C 12

-~ D11
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The non-calculator section of the test ends here.




A bag contains red apples and yellow apples. The ratio of red apples to yellow apples in the bag
is 9 to 4. Which of these statements could be true?

A There are exactly 6 red apples and 1 yellow apple in the bag.
B There are exactly 18 red apples and 8 yellow apples in the bag.
/€ There are exactly 4 red apples and 9 yellow apples in the bag.

D There are exactly 9 red apples and 13 yellow apples in the bag.
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Which of these is an integer?

7

O A —
10

. B 65
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Which ratio correctly represents 0.1% ?
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Which of these lists the numbers in order from least to greatest?

D A 3, -16, 47
) B -16, 3, 47
O € 3 47, -16

O D -16, 47, 3
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Identify each statement that is true.
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This picture represents 4 pizzas.

2

Exactlvhnwmanygarelnd-?

O A2
QB 5
o C 10

O D 20

13 of 50



L

Valerie wrote the values of the powers of 3 that she knew.

What is the value of 35 ?

A 15
B 84

C 125

;D 243

I =3
32=9
3 =27
3% =81
=3

14 of 50



Samuel bought 4 rolls of tape to seal boxes. Each roll contains 32.9 meters of tape. He uses
1.2 meters of this tape to seal each box. What is the total number of boxes Samuel can seal with
these 4 rolls of tape?

_ A 109 boxes
(0 B 130 boxes
_ € 132 boxes

_ D 157 boxes
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Mia is working on projects that require 3% yards of ribbon per project. Mia has 28 yards
of ribbon. What is the greatest number of projects that Mia can complete with this ribbon?

A 98
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Kevin threw a football 19% yards. Scott threw the football 24% yards. Which statement is true?

_ A Kevin threw the football 4-§yard5 farther than Scott.
_ B Scott threw the football 4% yards farther than Kevin.
it € Kevin threw the football 5% yards farther than Scott.

- D Scott threw the football 5—% yards farther than Kevin.
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Alisha wants to buy a camera that costs $228, including tax. She has saved $4.75 each week for
the past 8 weeks. How much more money does Alisha need to purchase the camera?

A $6
_ B $38
C 448

~ D $190

18 of 50



Directions: Type your answer in the box.

The regular price of a meal is $6.75. On Tuesday, the meal is on sale for $1.00 off the regular price.
Sarah bought 4 of these meals on Tuesday. What is the total cost of these 4 meals before tax?

|
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Directions: Click and drag each selected temperature to the correct box.

Use the given temperatures to make each statement true.

The temperature at which water boils is

The temperature at which water freezes is

20 of 50



Which ordered pair best represents point ¥ on the grid?

‘E.DGJ“JC"IL"-l-hLJMI-*QJ HthﬂthﬂEﬁHJEul’.‘t

_ A (6, 3)
0B (5 -2)
O € (-2,5)

-~ D (73,6) 21 of 50



Victor measured a circular lid and found d, the diameter, was 8 inches and C, the circumference,
was 25 inches.

C=25in.

Which expression represents an approximate value for = ?
_ A 25+8
) B 25+8
O C 25x8

<~ D 25-8
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Neela is making rectangular place mats that are 12 inches wide and 15 inches long. What is the
least amount of ribbon that she will need to create a ribbon border around 1 place mat?

_ A 54 inches
_ B 54 square inches
o € 180 inches

_ D 180 square inches
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The edge length of a cube is shown.

What is the total surface area of this cube?

. A 54 square meters
. B 36 square meters
., € 27 square meters

) D 18 square meters

3m
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Ava placed the point of her pencil on the origin of a regular coordinate plane. She marked a point
after moving her pencil 4 units to the left and 7 units up. Which ordered pair identifies where Ava
marked her point?

A (4,7)

QB (~4,7)

) C (£ 4)
D (7, ~4)
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Which term most accurately classifies all of the figures below?

L]

/L

~ A Square
_ B Trapezoid
_ € Quadrilateral

_ D Parallelogram

—
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Figure STUVW is shown.

Which polygon appears congruent to figure STUVHW ?

™ .
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Directions: Click and drag each selected measurement to the correct box.

The area of a rectangle is 56 square inches. Identify the two measurements from those shown
that could be the length and width of this rectangle.

Length Width
by

[ [ e | 7o | svores | s | someres |
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The diameter of a circular table is 6 feet. Which of the following is closest to the area of the tabletop?

_ A 113.04 square feet
_ B 28.26 square feet
_ € 18.84 square feet

., D 9.42 square feet
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Which of these best describes the location of (0, 9) on a coordinate grid?

. A InQuadrant 1

_ B In Quadrant II
~ € On the x-axis

' D On the y-axis
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The radius of a circular swimming pool is 7.8 meters. Which is closest to the circumference of this
swimming pool?

A 2449m
- B 47.76m

J € 4898 m

-~ D 191.04m
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Wnatht[uvaluaufxwhun-;- =2.137
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Directions: Click on a box to choose each color you want to select. You must select two correct colors.

Phil surveyed 40 students about their favorite color. This circle graph shows the results.

Favorite Color

=P

Green

Identify two colors that together could represent the results of a group of exactly 20 students.

[ vellow ][ Green ][ aive ][ pin | IR
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Ivan created the arithmetic pattern shown.
1, 4, 7, 10

If Ivan continues the pattern, what will be the 7th number in the pattern?

_ A 13

. B 16

) € 19

D 22
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This list shows the number of text messages 5 friends sent last week.
13, 60, 61, 63, 64

The most appropriate measure of center for this data is the —

. A mean because all the numbers are close to one another in value
B median because all the numbers are close to one another in value
/€ mean because 13 text messages is much lower than the other numbers

D median because 13 text messages is much lower than the other numbers
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What is the solution to this number sentence?

3

—1—=3
Y 4

1

A v=1=
e
5

B yv=1=
. 7
C Y = E
4

1

D yv=5~
y=97
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Hector has 15 shirts in his drawer that are all the same size and shape.

6 shirts are white
4 shirts are blue

3 shirts are red
2 shirts are green

Hector randomly selects two shirts without replacement. The outcome of the second shirt is —

_ A dependent on the outcome of the first shirt, because not replacing the first shirt affects the outcome of the

-

second shirt

B dependent on the outcome of the first shirt, because not replacing the first shirt does not affect the
outcome of the second shirt

C independent of the outcome of the first shirt, because not replacing the first shirt affects the outcome of
the second shirt

D independent of the outcome of the first shirt, because not replacing the first shirt does not affect the
outcome of the second shirt
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The sixth-grade class held elections Which circle graph best represents the same set of data?
for class president. This graph shows
the results of the election.

Election Results Election Results

Election Results

O A

Haley Ishmael Juan Rema Election Results Election Results
Student

Number of Votes
o388 8EE

L
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Which property is illustrated by this number sentence?
(0.7 +1)-0=0
A Additive identity property
_ B Multiplicative property of zero
_ € Multiplicative inverse property

_ D Associative property of multiplication
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Which of these best describes dependent events?

_ A

Randomly selecting a cube from a bag of 2 red cubes and 2 green cubes that are all the same size, not
replacing it, then randomly selecting another cube

Randomly selecting a cube from a bag of 3 red cubes and 2 green cubes that are all the same size,
replacing it, then randomly selecting another cube

Spinning the arrows of two spinners each with 2 equal sections one time

Spinning the arrow of a spinner with 3 equal sections two times
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The first five terms of a sequence are shown.
4, 10, 16, 22, 28, ...

What is the common difference of this sequence?

. A4

B 6

JC 7

D 10
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Which line plot shows a set of data with a balance point of 23 ?

X X X X X
A+
19 20 21 22 23 24 25 X% 7
X

B X X X X
OB e+
19 20 21 22 23 24 35 2 27

X X X X X
o e
19 20 21 22 23 24 25 26 27
X X X X X
D —————————
19 20 21 22 23 24 35 2% 2V
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Directions: Click on a box to choose the property you want to select. You must select the correct property.

Which property is illustrated by this number sentence?

13.1=13

Associative Property || Multiplicative Identity
of Multiplication Property .

Commutative Property || Multiplicative Inverse
of Multiplication Property
R Multiplicative Property
| Distributive Property oF Teip

43 of 50



Which number sentence illustrates the multiplicative inverse property?

] A 4‘£:1
4

44 of 50



Cale used a certain rule to create this geometric pattern.
3, 12, 48, 192, 768
Which of these patterns follows the same rule as Cale’s pattern?
~ A1, 4, 16, 64, 256
) B 4, 8, 12, 16, 20
_ C 48, 44, 40, 36, 32

- D 88, 97, 106, 115, 124

45 of 50



Lee rolls a fair number cube labeled 1 through 6 two times. On both rolls, the number 6 lands face-up.
In this situation, the second roll is —

_ A dependent on the first roll, because the outcome of the first roll affects the outcome of the second roll
_ B dependent on the first roll, because the outcome of the first roll does not affect the outcome of the second roll

_ € independent of the first roll, because the outcome of the first roll affects the cutcome of the second roll

' D independent of the first roll, because the outcome of the first roll does not affect the outcome of the second roll

46 of 50



Which word describes 5 in the number sentence shown?
5r—2=18
_ A Term
— B Variable
_ € Eqguation

. D Coefficient

47 of 50



Which number sentence can be used to represent all the values of # shown on this graph?

Attt ————-

JAn>7
JBn=7
B C n?

@Dn<?
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Kylah spent $15 each week for 10 weeks. This circle graph represents how Kylah spent her
money on each of 5 types of items.

Kylah’s Spending

Make-up
15% c';’ggf
Music
25% Snacks
15%

Based on this graph, which appears closest to the total amount Kylah spent on books and music
for the 10-week period?

O A $35.00
_ B $40.00
O € $50.00

. D $75.00 49 of 50



Which graph represents the solution set to this inequality?

1 o 1 1 1 2 1
T e T T T T T
=1 1 2 3 4 5 b
i L } I } I
~1 1 2 3 4 5 ]
| i 1 1 | (1 |
L) o T T I T 1
-1 1 2 3 4 5 ]
: ——+—+—+—
~1 1 2 3 4 5 ]

1>n
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Grade 6 Mathematics
Released Test Spring 2014

Answer Key
Item Type:
Multiple
Sequence Choice (MC) Reporting
or Correct Answer Reporting Category Description
Number Category
Technology-
Enhanced
Item (TEI)
1 MC A 001 Number and Number Sense
2 MC A 001 Number and Number Sense
3 TEI Answers must be placed in the correct order from left to right: 001 Number and Number Sense
2
0.63%; 0.6; —
3
Directions: Click and drag each selected number to the correct box.
List the numbers in order from least to greatest.
Numbers
2
0.63% 0.6 3
Least ———— > Greatest
4 MC A 002 Computation and Estimation
5 MC B 002 Computation and Estimation
6 MC C 002 Computation and Estimation
7 MC C 002 Computation and Estimation
8 MC B 001 Number and Number Sense
9 MC C 001 Number and Number Sense

Grade 6 Mathematcis

Page 1



Item Type:
Multiple
Sequence Choice (MC) Reporting
or Correct Answer Reporting Category Description
Number Category

Technology-

Enhanced

Item (TEI)
10 MC D 001 Number and Number Sense
11 MC B 001 Number and Number Sense
12 TEI —5 > -8 (the box located in the first row, first column) and 10 > § (the box located 001 Number and Number Sense

in the third row, second column)
Both of these answers, and only these answers, must be selected.
Directions: Click on all the correct answers.
Identify each statement that is true.
s5>8/1<76
_|'-7 > -4'| 3<79

13 MC C 001 Number and Number Sense
14 MC D 001 Number and Number Sense
15 MC A 002 Computation and Estimation
16 MC D 002 Computation and Estimation
17 MC B 002 Computation and Estimation
18 MC D 002 Computation and Estimation

Grade 6 Mathematcis
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Item Type:

Typed Response: 23.00 (and all equivalent answers)

Directions: Type your answer in the box.

Sarah bought 4 of these meals on Tuesday. What is the total cost of these 4 meals before tax?

$ 23.00 |

The regular price of a meal is $6.75. On Tuesday, the meal is on sale for $1.00 off the regular price.

Multiple
hoice (M
Sequence Choice (MC) Reporting . ..
or Correct Answer Reporting Category Description
Number Category
Technology-
Enhanced
Item (TEI)
19 TEI 002 Computation and Estimation

Grade 6 Mathematcis
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Item Type:
Multiple
Sequence Choice (MC) Reporting
or Correct Answer Reporting Category Description
Number Category

Technology-

Enhanced

Item (TEI)
20 TEI 100°C must be placed in the top box; 32°F must be placed in the bottom box 003 Measurement and Geometry

Directions: Click and drag each selected temperature to the correct box.
Use the given temperatures to make each statement true.
The temperature at which water boils is| 100°C |.
The temperature at which water freezes is| 32°F |.
20°C 70°F || 98°F }

21 MC B 003 Measurement and Geometry
22 MC B 003 Measurement and Geometry
23 MC A 003 Measurement and Geometry
24 MC A 003 Measurement and Geometry
25 MC B 003 Measurement and Geometry
26 MC C 003 Measurement and Geometry
27 MC D 003 Measurement and Geometry

Grade 6 Mathematcis
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Item Type:
Multiple
Sequence Choice (MC) Reportin,
4 or Correct Answer P g Reporting Category Description
Number Category
Technology-
Enhanced
Item (TEI)
28 TEI 7 inches” and “8 inches” must be placed in the boxes. The order in which they are 003 Measurement and Geometry
placed in the boxes does not matter.
Directions: Click and drag each selected measurement to the correct box.
The area of a rectangle is 56 square inches. Identify the two measurements from those shown
that could be the length and width of this rectangle.
Length Width
:
4 inches 6 inches 20 inches | 50 inches
29 MC B 003 Measurement and Geometry
30 MC D 003 Measurement and Geometry
31 MC C 003 Measurement and Geometry

Grade 6 Mathematcis
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Item Type:

Typed Response: 6.39 (and all equivalent answers)

Directions: Type your answer in the box.

What is the value of x when % =2137

x=6.39 l

Multiple
Choice (MC) .
Sequence or Correct Answer Reporting Reporting Category Description
Number Category
Technology-
Enhanced
Item (TEI)
32 TEI 004 Probability, Statistics, Patterns, Functions, and Algebra

Grade 6 Mathematcis
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Item Type:
Multiple
Sequence Choice (MC) Reportin,
4 or Correct Answer P g Reporting Category Description
Number Category
Technology-
Enhanced
Item (TEI)
33 TEI ONE of these pairs of colors must be selected: Yellow (the first box from the left) 004 Probability, Statistics, Patterns, Functions, and Algebra
and Green (the second box from the left); Green (the second box from the left) and
Pink (the fourth box from the left); OR Green (the second box from the left) and
Red (the last box on the right). The image below shows one of these pairs selected,
Yellow and Green.
Directions: Click on a box to choose each color you want to select. You must select two correct colors.
Phil surveyed 40 students about their favorite color. This circle graph shows the results.
Favorite Color
Identify two colors that together could represent the results of a group of exactly 20 students.
34 MC C 004 Probability, Statistics, Patterns, Functions, and Algebra
35 MC D 004 Probability, Statistics, Patterns, Functions, and Algebra
36 MC C 004 Probability, Statistics, Patterns, Functions, and Algebra
37 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
38 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
39 MC B 004 Probability, Statistics, Patterns, Functions, and Algebra

Grade 6 Mathematcis
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Item Type:
Multiple
Sequence Choice (MC) Reporting
or Correct Answer Reporting Category Description
Number Category
Technology-
Enhanced
Item (TEI)
40 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
41 MC B 004 Probability, Statistics, Patterns, Functions, and Algebra
42 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
43 TEL IMultiplicative Identity Property (the box located in the first row, second column) 004 Probability, Statistics, Patterns, Functions, and Algebra
Directions: Click on a box to choose the property you want to select. You must select the correct property.
Which property is ill ted by this ber sent: ?
13-1=13
. Multiplicative Identity
of Multiplication Property
i Commutative Property f Multiplicative Inverse
of Multiplication Property
‘ Distributive Property Muat‘p’i?ftg’;gmpem
44 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
45 MC A 004 Probability, Statistics, Patterns, Functions, and Algebra
46 MC D 004 Probability, Statistics, Patterns, Functions, and Algebra
47 MC D 004 Probability, Statistics, Patterns, Functions, and Algebra
48 MC B 004 Probability, Statistics, Patterns, Functions, and Algebra
49 MC C 004 Probability, Statistics, Patterns, Functions, and Algebra
50 MC D 004 Probability, Statistics, Patterns, Functions, and Algebra

Items 1 through 7 are in the non-calculator section of the test. Items 8 through 50 are in the calculator section of the test.
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